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(The figures in the margm indicate ﬁdl marks for the questions)
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Section—-A/ F - =il |
Choose the correct answer : &% @061 AIfE Sfenedt |

If a,b,c,d are in proportional then which of the following is true? 1
It a,b,c,d FANTATCS® AF (ST O] (FITC0 &7 2

A.ab=cd B.ad=bc C. ac=bd

D. None of these G618 727

If H.C.F. (2520, 550)=120 and L.C.M. (2520, 6600) 252 xK then the value
of K is - 1

WM AN 2520, 550 = 120 WFFALE. 2520, 6600 = 252 xK (5% K I
Refa <=t

A.560 . B. 550 C.660 D. 2520
.Which of the following isa polynomlal 1
O (FIHCE! I29AM 2
1
2
A E a0 B X +2x+19 Gy D Jx +19

If one zero of the polynominal (k-1) x? + kx + 1 is — 4 then the value of K is-
Tt (k-1) x2 +kx + 1 @Waaﬁ*ﬁj 4357 (B K am?{a—

A 4 —4 5 ‘ =5

-3 | B. 3 C. 1 Lo EX _21_
Which of the following is not a perfect square? 1
ST (FICH! 57 AL 5T 2
A.729 B.576 - C.572 D. 441
Wher} the polynominal P(x) = x'°' + 1001 is divided by (x+1) then the
remainder is -
QTR P(x) = x'°' + 1001 T2WCHIE (x-+1) (ISl 51 27 SR T —
A.0 B.1 C. 1490 D. 1000
If ; varies directly as y and x =6 when y =30, then the value of y when x
=21s-

ﬂﬁx@y@ﬂ%ﬁ@%ﬂﬁﬁ‘i@%y=30iﬁ X=6 (S8 x=29
AR y I TI—
A.12 B.20 C.10

2+43 5
2»_\/5 1Isa ¢

D.15
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A. Rauonal number #RTE 74N B. Irratlonal number Soif3rs -

10. The condition to be satisfied by g, so that the ratlonal number 24

q haSa

Ry

C. Integer SIS IR ~ D. None of the above 893 “‘mznm
: 2 i : : g D..
9. The value of (--5) is- | 1 13a
B B : ax
2" A.
(e B,
A 3 | g
8 165 e 16 gy gire 81 | 5
A TIRREE =T “ 3 p: 16 | 4F
' : +
a
o 8

‘non terminating decimal expansion is - 1

£ ﬂﬁmzwmtﬁramﬁasﬁ@%wm@i%w @mwm
-q*q_
- A.The prime factorlsauon of q is of the form 2™ x 57
q TGN Stz Rose 2m x sheqfs
B. The prime factorisation of q is not of the form 2™ x 5n

q I T Besiivas Rogs 2m x 50 wifEg ey

C. The prime factorisation of q is of the form m? x n’
q3 CNfeRe Btz R m? x n’ wifdq
'D. None of the above @51 «5}3 BET)]

- —

15.

1¢
11. If the zeroes of the polynomial x +(a +1)x+b are 2 and — 3 then the

Value of a and b are 1

i x *+(a+1)x+b TS TR 45 2 W% —3 T (50T a Wi b
I T,
A a=-7,b=-1 B. a=5,b=-]
C.a=2,b=-6 D..a=0,b=-6 |
12. Assertion (A) : \/q is anirrational number, where ais a prime number.

ot (A) @ f, B! SRR 14 T a TR 7122 | |
Reason (R) : Square root of any prime number is an irrational number.
TR (R) : I G A2 35771 wriRic i

A.Both A and R are true. A 1% R V(151 77 |

B. Ais true but R is false. A% & R ©7e7 |
C. Both A are R are true and R is the correct explanation of A.
AT R B! 79) Sk R 25 A T &% 11 |
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14.
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D. A is false but R is true, AR} 3G R 3795 |

ax + by + ¢=01s a linear polynomial in two variables in which g, b, care
ax + by ¢=0 90! toRYS (3RS TNF T°S g, b, ¢ TFA—

A. Natural number iR 22 | | |

B. Whole number = 32t -

C. Intergers S H

D. Real number %3 g4t

For the con.si'stent pair of linear equationsa x+b;y+c =0and a x+b.y
+ ¢, = 0 which of the following is true ' : ’

ax+by+c =0T ax+by+c,=07M® &RT TN @ CFge

, O (IO HJ—

15.

16.

a b a, b e a b | c
o — £ L oy —e e L _ ooy — =1 1

@) a, b, (11) a, b, ¢, (i) a, b, «c,

A. (1) and (ii) (1) ©N=e (ii) , B. only (i) CF= (i)

C. (1) and (1i1) (i) < (ii\i) * D. (ii) and (iii) (ii) =<6 (iii)

For the quadratic equation x*> — px + g = 0 (p, q are real numbers) there

will not be any real roots if - A g =

x> —px+q=0 p, g AVI A RI® FTNFIAEIT (FIEH! B e NACE

A.p’ > 4q B.p’ <4q

C.p’=4q D. None of the above 8%/ GGIe 72

Consider the following pairs of linear equations

OoTq (IR ST CAIRCHRG! RCIB 1 8

(1)2x—-3y—8=0,4x—-6y—9=0

(i) 2x+3y=9,4x+6y=18

Choose the correct alternative :

o Reerco! A1 Sferedt |
A. The pair in (i) has no solutions, whereas the pair in (i1) has unique
solution. ' ‘

(i) CIRCHI e =11 5% (i) (TIACBR @S T ez |

B. The pair in (i) has infinitely many solutions, whereas the pair in (i1)
has no solution. .
(i) = SIS SR ST ST, B (if) (AR AT IR

C. ' The pair in (i) and (ii) has no solution.
(i) = (i) FCAIBT CAIRCIR AT N2 _

D. The pair in (i) has no solutions, whereas the pair in (ii) has many
solution.

(i) @mmmaﬁﬁs@(ii)wwﬂemmmwmu
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| 202
17. 10 students of class X took part in a Mathematics Quiz, ¢, 25\ 4
girls is 4 more than the number of boys, then the numbe, A ffi)llfnber;
took part in the quiz is — Oyg i
W] I 10 T QIR <51 TS RIS WK el |y
R T TRATSE 4 Tt (AR 2, (ST T2 o731 TR
A3 B.7 G2 D8 RS
" 18. Assertion (A) : The roots of the quadratic equation x2 + 5y 1<
imaginary (no real roots) oA
fSTIE (A) : X2+ 5% +7=0 TN &1 10! A7 T
- Reason (R) : In quadratic equation ax*+bx +¢=0(a # 0) ifb2- A0
then the roots are imaginary S
R (R) : ax?+bx+c=0(a # 0)IFI & TACT I b>—4ac < Ex
A.Both'A'and 'R’ are true and 'R’ is the correct explanation of 'A'
'A' IIF 'R G 9 Wi 'R' T6 A" I 87 1A |
B. Aistrue, R is false. 'A' 9] 'R' 979J
C. Both'A"and 'R’ are true but 'R' is not the correct explanation of 'R'.
TA' I 'R IAGI 9) 'R’ , 'A' S & A 7L | | '
D. Only A is true. (F<=1'A' 9] | ,
19. Number ofroots of the equation (x+2)*=x’-4is

(x+2)° = X3 - 4 TARFROR R AL 2T —

A. 4 | B.3 C.2 D.1
) AB AC L
20. Ifin AABC and ADEF, EF = E then they are similar if
AB AC g
. gft AABC®I1% ADEF, T corg e = g9 afacg

A. LA=/D B.ZA=ZE C.ZB=ZE D.ZC=/LF

4 : : :
21. If —, a, 2 are the three consecutive terms of an AP then the value 'a'is

a2 o 2 @1 TR 2o FofE T A7 (ST a AW T

5

7 5 -9

— = " G5 D.5
A. 5 B. p 5

22. The next two terms of the AP ;—10, -6, —2; ......
10, 6,2 ....... A AoAfSF ASTS] 47 70!

A.4,8 B.—4,-8 C.2,6 D.6,10 -

23. In AABC, DE || BC,AD =3cm, DB = 8, AC=22cm At what distance frorr
A does the line DE cut AC? S
7ft AABC, DE || BC,AD =3cm, DB =8,AC=22cm (Sl A 9 o4 A

&S DE@ AC T FI0?
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A. 6cm B.4cm - C.10cm D.5cm

24. 11" term of the A.P. -3, %, D i is

1
=3, 552 e G T 2A5STHIR 1 197 W1 T I—
A.28 _ B.22 C.-38 D.—48 %
1 2
25. The value of _i-__t_azn_q is
sec” @
1+ tan’ @ '
S T N Te—
sec” @ ;
A ) B.1 C ' . D l ‘
- sec” 6 ) - "sec’@—cos’@ 2
26. Co-ordinates of any point on the graph of the equation y = x is of the
form- o | o | VRaN
y = X AP (1T 89T 2] RCIe R S A ' —
A.(a,a) B.(0,a) C.(a,0) D. (d,—a)
27. If sec2x = ; — where 2x is an acute angle then the value of x is
sin(x—36) - :
1 .
T sec2x =— —T® 2x GBI IPHCEI (@ X I AR —
sin(x—36) -
A.36° B.42° C.48° D.52°

78. Distance between the points (m, —n) and (-m, n) is

(m, —n) X< (—m, n),[& 4OIR &< =9 X —
A S +2 Bmtn - Cooym?+n® Do2V2m’+2n°

B+CJ

29. If A, B and C are the angles of a triangle then the value of COS(
is

B+C
3t A, BI% C fags ABC T SEHLHIT (903 Cos[

Ja'sna'a:’a

A A A A
in— = — Cos— D.— Cos—
’A, Sin > B.—Sin 5 C. : 2

30. Area of a rhombus whose lengths of diagonals are 8 cm and 4cm is

<51 T T OIETR 7 8cm I 4cm TE R TI—
A.32cm?* B.24cm? C. 16cm? D. 64cm?



26 MentorS Test Papers For HSLC Exam

31. In the figure, perimeter of AABC is
foa® AABC 7 «if3fiw 37

in Ges\:“

4cm

B- P <« - C
S5cm

AllScm B.30cm C.45cm D. 60cm
32. Areaofa circle whose circumference is22cmis-

22cm I3 RfE 951 3o Fif— .
A. Tcm? B.38.5cm? C.22cm? D. 77 cm?

33. Ifthe area of a circle is numeriacally equal to twice its circumference 'ﬂ“
the diameter of the circle js ; ’

ﬁﬁﬁwwmmm@ﬁmﬂmﬂm@mm
YA — ] S |
- A.4 units (4 G3F) - ~ B.16 units (16 93)

C. 8 units 8 935) - 'D. 2 units (2 §3)

34. The length of the tangent from a point A at a distance 10cm from t
centre of a circle is 8cm. Radius of the circle is- -

I (P 131 10cm TIFS 41 61 RE A T 191 531 ~>e{ewiers o 8em
ISR IAFTI— - |
A.4cm B.5cm . C.6cm D.7cm . |
35. In the figure, AP and AQ are the tangents of the circle then measure 0
ZAPQis. , .
foa® AP SIF AQ JSUBIF TOIT xS T'sT LAPQ I Wi* T7 —
A - e

P

Q e
—42° D.180°—84° -
9 .90°—84° C.180°-42 3
: A.Zg:};(? 2A= 9O°BAB =3cm, BC=5cmand AD 1LBC then lerll)gth chgg’
* XIABC 3;\= 90",1’&B=3cm, BC = 5cm € AD 1L BCT G A A%
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Ifthe curved SUI'faCG area of a solid right circular cylinder of height 'h' and
radius 'r' is one-third of its total surface area then _
T 'h' TS I ' AR (olfBl T gBIR el «ﬂ%raazméaaw%w:[b
91‘521511%13 AN T, (ST —
1

A. h=-3-r B. h=-2-r C.h=r D.h=2r

Cose of painting a cubical box of side 3m at the rate of Rs. 2 per sq.m is
B T FIOT AIFHI A (S 3m | &S 1o 2 5l Qe 3= ~pifere
RIEQCE G T —

A.Rs. 108 B. Rs.120 C.Rs.125  D.Rs.112

What is the value of c if the roots of the equation ax?+ bx +c=0(a=0)
are reciprocal to each other.

+bx+c—0(a¢0)ﬂﬁﬁ%ﬂﬁ?@ﬂﬁ@ﬂtﬁmaﬁ@ﬂimc€m
‘9:‘21— |
A.c=0 - B.c= b - C.c=a Dc—-—a

. The ratio of the radius and he1 ght of aright circular cylinderis 5 : 7 and its’

volume is 55.0cm? the base radius is - '
451 7T TOIFIN eI S APTE SF TH©! SHATS 5 : 7 S L AT
55.0cm’® T G JPAE T —

AS5cm ©  B.7em  C.6cm D.10cm
The probability of an 1mpos51ble event is
Wﬂ@ﬂ%@i’a—
1
A. 0 B. 1 C.2 D. B

Wthh one of the following is true ©&¥ (FIFCO! 313 ?
A. Mode =2 Median — Mean S=257F = 2 WY — |IY

B. Mode = 3 Median +2 Mean 251 = 3 W™l +2 R i)
C. Mode = 3 Median — 2 Mean %16 = 3 W™ — 2 304)
D. Mode = 3 Mean — 2 Median 21 = 3 X — 2 STLg
The probability of an event E is a number such that

<51 9511 E < TSIl P(E) 96! A1 AT

A.0<P(E)<1 -B.0OSPE)<l C.0< P(E)<1 D.0< P(E)<I

Themodeof45685486x158 The value of 'X' is-
af% 4,5.6,8,5,4,8,6,x IIETF 8 (€8 K IAHAZT—

A.4 B.5 C.6 D.8 :
The probability of getting a-number greater then 2 in a single throw ol a

die. .
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